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N. B. : (1) Attempt any four questions out of six que:
(2) Assume any suitable data if required. “

(3) Figures to the right indicate full marks.

1. (a) Draw the dual of the following nctwor'k:p

(b) Draw oriented graph and show one tree 5
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(¢} Write a short note on initial condition and its signiﬁcancé 5
(d) Prove that _ 5
A=l B_2L ag N 1 D-—-Z?z .
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 Where A, B, e, D are transmission parameters and Z,,, Z,,, Z,;, £, are
Z-parameters. -

2. (a) Find the nodal voltages":f.r’;.t_rhe circuit shown in figure. 10
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(b) Find Vout by superposition theorem.
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3. (a) Determine Z and Y parameters of the network shown in figure
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. (bj Find the uansr;i_igsion pz:ram‘etcr for the two part network shown below g 1
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4. (a) Inthe given network switch is opened at t=0 solve for v, 5 ':1';5' att=0". 1
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(b) For the netwark shown in figure, steady state is renched with the switch closed. 10
The switch is opened at t = 0, Obtain expression for I (1) n”iil V(1) for t> 0,

J. (a) Obtain incidence matrix, ticscl matrix and f-cutset matrix for the graph shown 15
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(b) Define ilriéfi\:viﬂl suitable example differentiate between planar and non planar 5

graph.,

6. Realize the Foster forms and Cauer forms of the following impedance function. 20
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